

ANNEXURE - XVII D

Before the DISTRICT ELECTION OFFICER, WEST-JAINTIA HILLS DISTRICT, JOWAI

Affidavit of SHRI AWHAI ANDREW SHULLAI, Son of Shri Heipormi Khonglah.

I, SHRI AWHAI ANDREW SHULLAI, son of Shri Heipormi Khonglah aged 40 years, resident of H.No-5, Mission Compound, Jowai, West-Jaintia Hills District; do hereby solemnly and sincerely state and declare as under:-

- 1. That I was a contesting candidate at the General Election / Bye Election to the Legislative Assembly of Meghalaya from 2-Jowai Assembly Constituency, 2023, the result of which was declared on 2nd March, 2023.
- 2. That I/my election agent kept a separate and correct account of all expenditure incurred / authorized by me / my election agent in connection with the above election between 6th February, 2023 (the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.
- 3. That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed there from (other than the expense on travel of 'Leaders' covered by Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951).







-2-

- 5. That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election.
- That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

DEPONENT

Solemnly affirmed/sworn by Shri Awhai Andrew Shullai at Jowai this 27 day of March 2023 before me.

NOTARY PUBLIC Notes y
West-Jaintia Hills District
Jowa Government of Meghalayo



GOVERNMENT OF MEGHALAYA OFFICE OF THE DEPUTY COMMISSIONER (ELECTION)

WEST JAINTIA HILLS DISTRICT, JOWAI

GENERAL ELECTION TO MEGHALAYA LEGISLATIVE ASSEMLY ELECTION – 2023

Name of Party Worker:

A NONGKYNRIH

No. & Name of the District:

West Jaintia Hills District

Name of Political Party:

ALL INDIA TRINAMOOL CONGRESS

Type of Vehicle:

HYUNDAI CREATA

Registration of the Vehicle: Permit No. & Date of Issue: ML05 Y 0500 19AC25417-2

Area/Village where the vehicle will be operate

2-Jowai Assembly Constituency

Validity:

Till 02/March/2023

To be used by:

Party Worker

(TO BE DISPLAYED ON THE WINDSHIELD OF VEHICLE)

NB: If the Vehicle is found to have been requisitioned for Election Duty, This Permit stands automatically Cancelled

Issued by

Dated: 18/Feb/2023

the

Returning Officer
2-JowaiAssembly Constituency



GOVERNMENT OF MEGHALAYA OFFICE OF THE DEPUTY COMMISSIONER (ELECTION)

WEST JAINTIA HILLS DISTRICT, JOWAI

GENERAL ELECTION TO MEGHALAYA LEGISLATIVE ASSEMLY ELECTION - 2023

Name of Party Worker:

CLIPON

No. & Name of the District:

West Jaintia Hills District

Name of Political Party:

ALL INDIA TRINAMOOL CONGRESS

Type of Vehicle:

MARUTI IGNIS ML05 X 9722

Registration of the Vehicle: Permit No. & Date of Issue:

19AC25417-3

Dated: 18/Feb/2023

Area/Village where the vehicle will be operate

2-Jowai Assembly Constituency

Validity:

Till 02/March/2023

To be used by:

Party Worker

(TO BE DISPLAYED ON THE WINDSHIELD OF VEHICLE)

NB: If the Vehicle is found to have been requisitioned for Election Duty, This Permit stands automatically Cancelled

Issued by



Returning Officer
2-JowaiAssembly Constituency



GOVERNMENT OF MEGHALAYA

OFFICE OF THE DEPUTY COMMISSIONER (ELECTION)

WEST JAINTIA HILLS DISTRICT, JOWAI

GENERAL ELECTION TO MEGHALAYA LEGISLATIVE ASSEMLY ELECTION - 2023

Name of Candidate:

AWHAI ANDREW SHULLAI

No. & Name of the District:

West Jaintia Hills District

Name of Political Party:

ALL INDIA TRINAMOOL CONGRESS

Type of Vehicle:

SCORPIO

Registration of the Vehicle:

ML04 D 2526

Permit No. & Date of Issue:

19AC25417-1

Dated: 18/Feb/2023

Area/Village where the vehicle will be operate

2-Jowai Assembly Constituency

Validity:

Till 02/March/2023

To be used by:

Candidate

(TO BE DISPLAYED ON THE WINDSHIELD OF VEHICLE)

NB: If the Vehicle is found to have been requisitioned for Election Duty, This Permit stands automatically Cancelled

Issued by

Returning Officer 2-JowaiAssembly Constituency



AWHAI ANDREW SHULLAI

Statement Generated By :- 272238

Joint Holder:-S/O: HEIPORMI KHONGLAH, 5 NEAR SANMALA
BUILDING, MISSION COMPOUND JOWAL,
WEST JAINTIA HILLS
JAINTIA HILLS

Customer No :878588478
Scheme :CURRENT ACCOUNT FOR ELECTION CANDIDATE
Currency :INR

793150

MEGHALAYA

Statement of Account No :920020052966898 for the period (From : 01-02-2023 To : 15-03-2023)

Tran Date	Chq No	Particulars	Debit	Credit	Balance	lai Br
		OPENING BALANCE			.00	_
				10000.00	10000.00	85
06-02-2023		TRF/AWHAI ANDREW SHULLAI/CHQ NEFT/BD23020999861006/AITC MEGHALAYA		10000.00		
9-02-2023		ASSEMBLY ELE		1000000.00	1010000.00	
3-02-2023	25802	SAK/CASH WDL/SAK330767704/852/JOWAI [ML/THIRD PAR	200000.00		810000.00	85
4-02-2023	25803	SAK/CASH WDL/SAK331031928/852/JOWAI [ML/THIRD PAR	150000.00		660000.00	85
5-02-2023	25805	SAK/CASH WDL/SAK331225009/852/JOWAI	18500.00		641500.00	85.
15-02-2023	25804	SAK/CASH WDL/SAK331244308/852/JOWAI [ML/PYNSHAILA	13500.00		628000.00	852
20-02-2023	25810	SAK/CASH WDL/SAK331838027/852/JOWAI [ML/THIRD PAR	25600.00		602400.00	852
20-02-2023	25808	SAK/CASH WDL/SAK331838624/852/JOWA! [ML/SELF	38000.00		564400.00	852
20-02-2023	25811	SAK/CASH WDL/SAK331841124/852/JOWAI [ML/THIRD PAR	45500.00		518900.00	852
20-02-2023	25806	SAK/CASH WDL/SAK331850587/852/JOWAI [ML/THIRD PAR	20000.00		498900.00	852
20-02-2023	25807	SAK/CASH WDL/SAK331851203/852/JOWA1 [ML/THIRD PAR	15120.00		483780.00	852
21-02-2023		SAK/CASH WDL/SAK332029105/852/JOWAI [ML/ARIS NONG	62000.00		421780.00	852
21-02-2023		NEFT/BD23022100927200/AITC MEGHALAYA ASSEMBLY ELE		1500000.00	1921780.00	248
24-02-2023	25812	SAK/CASH WDL/SAK332554690/852/JOWAI	62540.00		1859240.00	852
01-03-2023		SAK/CASH WDL/SAK333223545/852/JOWAI [ML/SEPYNSHAI	69000.00		1790240.00	852
01-03-2023	25817	SAK/CASH WDL/SAK333311083/852/JOWAI [ML/YOOLANG P	97284.00		1692956.00	852
01-03-2023	25821	SAK/CASH WDL/SAK333311930/852/JOWAI [ML/CHIEFTAIS	12000.00		1680956.00	852
01-03-2023		SAK/CASH WDL/SAK333312740/852/JOWAI [ML/DAYOODAME	122500.00		1558456.00	852
01-03-2023		SAK/CASH WDL/SAK333313263/852/JOWAI [ML/DAYOODAME	10500.00		1547956.00	852
01-03-2023		SAK/CASH WDL/SAK333314457/852/JOWAI [ML/RICKY DON	25500.00		1522456.00	852
01-03-2023		SAK/CASII WDL/SAK333315092/852/JOWAI [ML/RICKY DON	17500.00		1504956.00	852
01-03-2023		SAK/CASH WDL/SAK333313797/852/JOWAI [ML/LONG SHUL	25000.00		1479956.00	852
01-03-2023		SAK/CASH WDL/SAK333330369/852/JOWAI [ML/SHANBORLA	77000.00		1402956.00	852
01-03-2023		SAK/CASH WDL/SAK333330887/852/JOWAI (ML/WANBIANG	28000,00		1374956.00	852

03-03-2023	5823	SAK/CASH WDL/SAK333699149/852/JOWAI [ML/PYNSIIAILA	71500.00		1303456.00	852
	5824	SAK/CASH WDL/SAK333699575/852/JOWAI ML/WANBIANG	21600.00	-	1281856.00	852
		TRANSACTION TOTAL	1228144.00	2510000.00		
		CLOSING BALANCE			1281856.00	

Unless the constituent notifies the bank immediately of any discrepancy found by him/her in this statement of Account, it will be taken that he she has found the account correct.

The closing balance as shown/displayed includes not only the credit balance and / or overdraft limit, but also funds which are under clearing. It excludes the amount marked as lien, if any. Hence the closing balance displayed may not be the effective available balance. For any further clarifications, please contact the Branch.

We would like to reiterate that, as a policy, Axis Bank does not ask you to part with/disclose/revalidate of your iConnect passord, login id and debit card number through emails OR phone call Further, we would like to reiterate that Axis Bank shall not be liable for any losses arising from you sharing/disclosing of your login id, password and debit card number to anyone. Please co-operate by forwarding all such suspicious/spam emails, if received by you, to customer.service@axisbank.com

REGISTERED OFFICE - AXIS BANK LTD, TRISHUL, Opp. Samartheswar Temple, Near Law Garden, Ellisbridge, Ahmedabad. 380006. This is a system generated output and requires no signature.

Legends:

ICONN - Transaction trough Internet Banking

VMT-ICON - Visa Money Transfer through Internet Banking

AUTOSWEEP - Transfer to linked fixed deposit

REV SWEEP - Interest on Linked fixed Deposit

SWEEP TRF - Transfer from Linked Fixed Deposit / Account

VMT - Visa Money Transfer through ATM

CWDR - Cash Withdrawal through ATM

PUR - POS purchase

TIP/ SCG - Surcharge on usage of debit card at pumps/railway ticket purchase or hotel tips

RATE.DIFF - Difference in rates on usage of card internationally

CLG - Cheque Clearing Transaction

EDC - Credit transaction through EDC Machine

SETU - Seamless electronic fund transfer through AXIS Bank

Int.pd - Interest paid to customer

Int.Coll - Interest collected from the customer

++++ End of Statement ++++

		ANNEXURE - E2
	PART - I ABSTRACT STATEMENT OF E	LECTION EXPENSES
1	Name of Candidate	SHRI. AWHAI ANDREW SHULLAI
11	Number and name of Constituency	
	Name of State/Union Territory	2 - JOWAI ASSEMBLY CONSTITUENCY
	nature of Election	MEGHALAYA
\vdash		STATE ASSEMBLY ELECTION
$\overline{}$		02-03-2023
	Name and Address of Election agent	SHRI. CHAREMIKI WAR, CHILLIANGRAIJ
VII	If candidate is set up by a political party, please mention the name of the	
	political party	ALL INDIA TRINAMOOL CONGRESS (AITC)
VIII	Whether the party is a recognised political party	YES

Pulbi

Date:

Signature of the candidate:

Place:

Name: SHRI. AWHAI ANDREW

	PART - II ABSTRACT (OF STATEMENT OI	ELECTION EXPE	ENDITURE OF CANDIDA	TE
	Particulars	Amt. incurred/ auth. By Candidate/ Election agent (in `)	Amt. incurred/ authorized by Pol. Party (in `)	Amt. incurred/ authorized by others (in `)	Total Election expenditure (3+4+5)
1	2	3	4	5	6
I	Expenses in public meeting, rally, procession etc.:- Expenses in public meeting, rally, procession etc. (i.e. other than the ones with star campaigners of the political party (Enclose as per schedule-1	10,66,500.00	-	30,000.00	10,96,500.00
	I. b: Expenditure in public meeting rally, procession etc. with the star campaigner(s) (i.e: other than those for general party proganda) (Enclose as per schedule-2)	-	-	-	-
II	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above (Enclose as per Schedule-3)	neeting, rally, procession etc. in S.No. I above (Enclose as per		-	-
III	(a) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in privately owned newspapers/TV/ Radio Channels etc. (Enclose as per Schedule-4)	75,500.00	-	-	75,500.00
	(b) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in newspapers/TV/radio channels etc. owned by the candidate or by the political party sponsoring the candidate (Enclose as per Schedule-4A)	-	-	-	-
IV	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	66,026.00	-		66,026.00
V	Expenses of campaign workers / agents (Enclose as per Schedule -6)	-	-		-
VI	Any other campaign expenditure	-	-		
	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)	-	-		-
VIII	Expenses incurred on Virtual Campaign (Enclose as per Schedule 11)	-	-	-	-
	GRAND TOTAL	12,08,026.00	-	30,000.00	12,38,026.00

	PART III : ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE						
SI. No.	PARTICULARS	Amount (in `)					
1	2	3					
I	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)	10,000.00					
II	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule -8)	25,00,000.00					
111	Lump sum amount received from any person/ company/ firm/ associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	30,000.00					
	TOTAL	25,40,000.00					

	Schedules- 1 to		ons Funds and Expen	diture of Candidate	
Expen	ses in public meeting, rally, procession etc. (ic		edule- 1 h Star Campaigners of	the Political party)	
Apen	ses in public incetting, rany, procession etc. (R	. other than those wit	ii Stai Campaigners of	Sources of Expenditu	ire
S. No	Nature of Expenditure	Amt Incurred/ Amt increed / by P		Amt. increed / by Pol.	Amt. incurred by others
1	2	3	4	5	6
1	Vehicles for transporting visitors	-	-	-	-
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.	2,50,660.00	2,50,660.00	-	-
3	Arches & Barricades etc.	-		-	-
4	Flowers/ garlands	-	-	-	-
5	Hiring Loud speakers, Microphone, amplifiers,	2,19,000.00	1,89,000.00	-	30,000.00
6	Posters, hand bills, pamphlets, Banners, Cut- outs, hoardings	1,52,040.00	1,52,040.00	-	-
7	Beverages like tea, Water, cold drink, juice etc.	÷	-	-	-
	Digital TV -boards display, Projector display, tickers boards, 3D display	-	-	-	-
9	Expenses on celebrities, payment to musicians, other artists remuneration etc.	1,50,000.00	1,50,000.00	-	-
10	Illumination items like serial lights, boards etc.	-	-	-	-
11	Expenses on transport, Helicopter/aircraft/ vehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner)	29,000.00	29,000.00	-	-
12	Power consumption/ generator charges	1,16,000.00	1,16,000.00		-
13	Rent for venue	-	-	-	-
14	Guards & security charges	-	-	-	-
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner	-	-	-	-
16	Others expenses	1,79,800.00	1,79,800.00	-	-
	TOTAL	10,96,500.00	10,66,500.00		30,000.00



	Schedule- 2									
Expo	Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party									
	propaganda)									
S. No	Date and Venue	Name of the Star		iture on public meeting	, rany, procession	Remarks, if any				
		Campaigner(s) & Name of	etc. with the St	ar Campaigner(s) app	ortioned to the					
		Party	candidate (As other	than for general party p	propaganda) in Rs.					
1	2	3		4		5				
			S	Sources of Expenditure						
			Amount by	Amount by Political	Amount by others					
			candidate/ Agent	Party						
,										
'										
2										
3										
-										
4										
5	5									
6										
	TOTA	AL								

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule-1 & 2)

S.	Nature of Expenses	Total Amount in '	S	Sources of Expenditure				
No.			Amt. by candidate /	Amt. by Pol. Party	Amt. by others			
			agent					
1	2	3	4	5	6	7		
1								
2								
3								
4								
5								
	TOTAL	Nil	Nil	Nil	Nil			

iten	s/TV/radio channel etc. inc	luding the paid n	ews so decided by MC	MC or volun	cable network, bulk SMS or Internet or social media, news starily admitted by the candidate. The details should include the y owned newspapers/TV/radio channels etc.			
S. No Nature of medium Name and Name and address of Total Sources of Expenditure								
		11	account reporter	Amount in	And by Oak and by Oak and by Oak and			

Schedule- 4

S. No Nature of medium Name and		Name and address of		Sources of Expenditure			
	(electronic/ print) and	address of	agency, reporter,	Amount in	Amt. By Candidate/	Amt. by Pol. Party	Amt. by Others
	duration	media provider	stringer, company or	,	Agent		
		(print	any person to whom				
		/electronic	charges /				
		/SMS	commission etc.				
		/ voice/ cable	paid/ payable, if any				
		TV, social					
		media etc.)					
1	2	3	4	5	6	7	8
1	Nil	V 1-: 6	Nil	75,500.00	75,500.00	Nil	Nil
		Kune- lei- Sap, Recording Studio,					
		West Jaintia Hills					
		District, Jowai					
	Т	OTAL		75,500.00	75,500.00		



Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

the can		.,	. , ,		-, -,		
S. No	Nature of medium	Name and	Name and address of	Total	S	ources of Expenditu	re
	(electronic / print) and duration	address of media provider (print /electronic /	agency, reporter, stringer, company or any person to whom charges /	Amount in	Amt. By Candidate/ Agent	Amt. by Pol. Party	Amt. by Others
		SMS / voice/ cable TV, social	commission etc. paid/ payable, if any				
1	2	3	4	5	6	7	8
1							
2							
3	NIL	NIL	NIL	NIL	NIL	NIL	
4							
5							
6							
7							
8							
9							
10							
11							
12							
13							
14							
15							
16							
17							
18							
19							
20							
21							
22							
23							
24							
25							
26							
27							
28							
29							
30							



•				edule - 5					
	Details of expenditure on campai						date's electio	n camp	oaign
S. No		Hiring C	harges o	f vehicle Driver's	No. of Days	Total amt.	Amt. by	Amt.	f Expenditure Amt. by others
	Regn. No. of Vehicle & Type of Vehicle	Hiring of vehicle / maintenance	charges (If not	charges (If not covered	for which used	auth. in '	candidate/ agent	by Pol. Party	
1	2	3a	3b	3c	4	5	6	7	8
1	ML04- D-2526 (Scorpio)		299.18 (Litre)		14				
2	ML04- X- 9722 (Maruti Ignis)		@96.93		2	29,000.00	29,000.00		
3	ML05- Y-0500 (Creta)				2				
4	ML05-B-3293 (car)	710.00			4	2,840.00	2,840.00		
5	ML05-Z-9639 (Alto 800)	710.00			6	4,260.00	4,260.00		
6	ML04-D-0247 (Alto 800)	710.00			7	4,970.00	4,970.00		
7	ML05-A- 1111 (Alto K10)	710.00			6	4,260.00	4,260.00		
8	ML04-B -5838 (Alto 800)	710.00			6	4,260.00	4,260.00		
9	ML04-D-5237(Maruti Car)	710.00			5	3,550.00	3,550.00		
10	ML04- B-6112 (Maruti 800)	710.00			5	3,550.00	3,550.00		
11	ML04- D-5286 (Alto K10)	710.00			4	2,840.00	2,840.00		
12	ML04- A- 5122 (Alto 800)	710.00			3	2,130.00	2,130.00		
13	ML04-B-6638 (Alto 800)	710.00			2	1,420.00	1,420.00		
14	ML04-C-4072 (Swift)	710.00			2	1,420.00	1,420.00		
15	ML04-B-9122 (Celerio)	710.00			2	1,420.00	1,420.00		
16	ML04- B-9017 (Alto 800)	710.00			3	2,130.00	2,130.00		
17	ML05- X-0459 (Gypsy)	764.00			1	764.00	764.00		
18	ML05- E- 3298 (Maruti Van)	1,310.00			1	1,310.00	1,310.00		
19	ML04- D- 4265 (City Bus)	1,970.00			1	1,970.00	1,970.00		
20	ML04-O-2526 (Scorpio)	1,092.00			6	6,552.00	6,552.00		
21	ML05- D -5104 (Sumo)	1,092.00			2	2,184.00	2,184.00		
22	ML04-C-8447 (Sumo)	1,092.00			1	1,092.00	1,092.00	_	
23	ML05- AA-5595 (Sumo)	1,092.00			1	1,092.00	1,092.00	_	
24	ML05- C- 9095 (Sumo)	1,092.00			1	1,092.00	1,092.00	_	
25	ML04- C- 0457 (Scorpio)	1,092.00			4	4,368.00	4,368.00	_	
26	ML04-C-7798 (Scorpio)	1,092.00			2	2,184.00	2,184.00	\rightarrow	
27	ML05-AA-5595 (Sumo)	1,092.00			1	1,092.00	1,092.00		
28	ML04-C-6789 (Scorpio)	1,092.00			1	1,092.00	1,092.00	_	
29	ML04-B-9560 (Scorpio)	1,092.00			2	2,184.00	2,184.00		
	TOTAL					95,026.00	95,026.00		



-					Sche	dule- 6				
	Details of	expenditure on Campaign w	orkers	/ agents and on		dates' booths	(kiosks) outside pollir	ng stations for distri	bution of voter's	
S. No	Date and Venue					Total amt.	Sources of Expenditure			
		Nature of Expenses	Rate	No. of worke agents No. of k		incurred/ auth. in `	Amt. by candidate/ agent	Amt. by Pol. Party		
1	2	3a	3b	3c		4	5	6	7	
1		Candidates' booths (kiosks) set up for distribution of voter's slips								
2		Campaign workers honorarium/ salary etc.				NIL		_		
3		Boarding				,				
4		Lodging								
5		Others								
		TOTAL								

	Schedule- 7									
Detail	Details of Amount of own fund used for the election campaign									
S.	S. Date Cash DD/ Cheque No. etc. with details of Total Amount in									
1	2	3	4	5	6					
1		10,000.00	-	10,000.00						
2					Deposit in Axis Bank A/C No. 920020052966898					
3										
4										
TO	OTAL	10,000.00		10,000.00						

			Schedule- 8			
	Details of Lump sum a	imount received from	m the party (ies) in ca	sh or cheque or DD or	by Account Transfer	
S.No.	Name of the Political Party	Date	Cash	DD/ Cheque No. etc. with details of drawee bank	Total Amount in `	Remarks, if any
1	2	3	4	5	6	7
1	All India Trinamool Congress	09-02-2023	Nil	NEFT	10,00,000.00	Deposit in Axis Bank A/C No. 920020052966898
2	(AITC)	21-02-2023	Nil	NEFT	15,00,000.00	through National Electronic Fund Transfer
3						(NEFT)
4						
5						
	TOTAL				25,00,000.00	



•.	Schedule- 9									
	Details of Lump sum amount received from any person/company/firm/associations/body of persons etc. as loan, gift or donation etc.									
S.	Name and address Date Cash DD/ Cheque No. Mention whether Total Amount in Remarks									
1	2	3	4	5	6	7	8			
1										
2										
3										
4										
	TOTAL		Nil	Nil	Nil	Nil				

	Schedule- 10										
Details	Details of expenditure incurred on publishing criminal antecedents, if any in newspaper and TV Channel										
Sl.No	Nev	vspaper			Televi	Mode of payment					
	Name of Newspaper	Date of publishin g	Expenses that may have been incurred (in `.)		Date & Time of insertion/ telecast	Expenses that may have been incurred (in `)	(electronic/ Cheque/DD/Cash (Pl. Specify)				
1	2	3	4	5	6	7	8				
	TOTAL			Nil	Nil	Nil					

	Schedule 11									
Detail	s of election expenses incurred on Virtu	ual Car	mpaign							
Sl.	Nature of Virtual Campaign (Indicate			Total	Se	Sources of Expenditure				
No.	Social Media Platforms/ Apps/ Other means)		disseminate message	Amount in	Amount by Candidate/ Agent	Amount by Political Party	Amount by others			
	TOTAL		NIL	NIL	NIL					

